



St. Louis County, Minnesota

Date of Report: 4/30/2025 6:17:02 AM

General	Details
Ochela	Detallo

Parcel ID: 759-0090-00610

Legal Description Details

Plat Name: UNORGANIZED 64-21

Section Township Range Lot Block

33 64 21 - -

Description: SE 1/4 OF SE 1/4 EX 1 AC IN SE CORNER INC A TRACT 208 3/4 FT N AND S BY 417 1/2 FT E AND W OUT OF

SE CORNER OF NE 1/4 OF SE 1/4

Taxpayer Details

Taxpayer NamePREPODNIK JAMES Vand Address:12540 SETHERS RDGHEEN MN 55771

Owner Details

Owner Name PREPODNICK JAMES V

Payable 2025 Tax Summary

2025 - Net Tax \$1,279.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$1,364.00

Current Tax Due (as of 4/29/2025)

Due May 15		Due October 15	Total Due			
2025 - 1st Half Tax	\$682.00	2025 - 2nd Half Tax	\$682.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$682.00	2025 - 2nd Half Tax Paid	\$682.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

Parcel Details

Property Address: 12540 SETHERS RD, ORR MN

School District: 2142
Tax Increment District: -

Property/Homesteader: PREPODNIK, JAMES V

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$41,300	\$138,100	\$179,400	\$0	\$0	-		
111	0 - Non Homestead	\$32,100	\$0	\$32,100	\$0	\$0	-		
	Total:	\$73,400	\$138,100	\$211,500	\$0	\$0	1811		





St. Louis County, Minnesota

Date of Report: 4/30/2025 6:17:02 AM

Land Details

Deeded Acres: 41.00 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00

ips.//apps.silouiscountymm.	gov/webriaisiiiaiiie/iiiiir	riatStatPop	Up.aspx. If t	there are any quest	ions, please email PropertyTa	ax@stlouiscountymn.go	
, ,,	<u> </u>	<u>.</u>		etails (HOUSE		<u>, , , , , , , , , , , , , , , , , , , </u>	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc	
HOUSE	1988	1,56	60	1,560	ECO Quality / 390 Ft ²	RAM - RAMBL/RNC	
Segment	Story	Width	Length	Area	Foundation		
BAS	1	12	26	312	FOUNDAT	ION	
BAS	1	12	52	624	BASEME	NT	
BAS	1	12	52	624	FOUNDAT	ION	
CW	1	6	8	48	FOUNDAT	ION	
DK	1	0	0	735	POST ON GR	ROUND	
Bath Count	Bedroom Count		Room (Count	Fireplace Count	HVAC	
1.75 BATHS	3 BEDROOMS		-		0	CENTRAL, GAS	
	lmį	proveme	nt 2 Deta	ils (MTL GARA	(GE)		
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des	
GARAGE	0	1,08	30	1,080	-	DETACHED	
Segment	Story	Width	Length	Area	Foundati	on	
BAS	1	30	36	1,080	FLOATING	LAB	
	ı	mproven	nent 3 De	etails (OLD GA	R)		
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des	
GARAGE	0	638	8	638	-	DETACHED	
Segment	Story	Width	Length	Area	Foundati	on	
BAS	1	22	29	638	POST ON GR	ROUND	
	ı	mproven	nent 4 De	etails (SLEEPE	R)		
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des	
SLEEPER	0	14	4	144	-	-	
Segment	Story	Width	Length	Area	Foundati	on	
BAS	1	12	12	144	POST ON GR	ROUND	
DKX	1	4	8	32	POST ON GROUND		
	lm	proveme	ent 5 Deta	ails (WOOD SH	ED)		
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des	
STORAGE BUILDING	0	480	0	480	-		
Segment	Story	Width	Length	Area	Foundati	on	
BAS	1	16	30	480	POST ON GROUND		





St. Louis County, Minnesota

Date of Report: 4/30/2025 6:17:02 AM

		Improveme	ent 6 Details	(WHITE STOR	R)					
Improvement Typ	Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc.									
STORAGE BUILDING 0 80 80										
Segme	nt Stor	y Width	Length	Area		Foundation				
BAS	0	8	10	80		POST ON (GROUN	D		
Improvement 7 Details (GREEN STOR)										
Improvement Typ	e Year Built	Main Flo	oor Ft ² Gro	oss Area Ft ²	Baser	Basement Finish Style Code & Des				
STORAGE BUILDIN		64	1	64		-			-	
Segme			Length	Area		Foundation				
BAS	1	8	8	64		POST ON (GROUN	D		
		Sales Reported	to the St. Lo	ouis County A	uditor					
No Sales informa	tion reported.									
	·	Δ	ssessment F	History						
	Class	Α.	ssessifient i	iistoi y		Def	n	ef		
Year	Code (Legend)	Land EMV	Bldg EMV	Tota EMV	-	Land EMV	BI	dg VIV	Net Tax Capacity	
	201	\$41,300	\$134,700	0 \$176,0	00	\$0	\$	60	-	
2024 Payable 2025	111	\$32,100	\$0	\$32,10	00	\$0	\$	0	-	
	Total	\$73,400	\$134,700	0 \$208,1	00	\$0	\$	0	1,774.00	
	201	\$41,000	\$134,700	0 \$175,7	00	\$0	\$	0	-	
2023 Payable 2024	111	\$31,700	\$0	\$31,70	00	\$0	\$	60	-	
	Total	\$72,700	\$134,700	0 \$207,4	00	\$0	\$	0	1,860.00	
	201	\$35,000	\$103,600	0 \$138,6	00	\$0	\$	50	-	
2022 Payable 2023	111	\$26,000	\$0	\$26,00	00	\$0	\$	0	-	
	Total	\$61,000	\$103,600	0 \$164,6	00	\$0	\$	50	1,398.00	
2021 Payable 2022	201	\$27,900	\$113,900	0 \$141,8	00	\$0	\$	50	-	
	111	\$19,100	\$0	\$19,10	00	\$0	\$	50	-	
·	Total	\$47,000	\$113,900	0 \$160,9	00	\$0	\$	0	1,364.00	
		1	Tax Detail Hi	story						
			Total Tax 8	<u>.</u>						
Tax Year	Tax	Special Assessments	Special Assessmen	its Taxable La	and MV	Taxable Bui MV	lding	Tota	I Taxable MV	
2024	\$1,651.00	\$85.00	\$1,736.00		00	\$118,27	3	;	\$185,973	
2023	\$1,261.00	\$85.00	\$1,346.00			\$85,088			\$139,834	
2022	\$1,429.00	\$85.00	\$1,514.00	\$42,1	84	\$94,238	3	;	\$136,422	





St. Louis County, Minnesota

Date of Report: 4/30/2025 6:17:02 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.